[5.2] Prop. of Expected Values 1hm 5.2.2 tf X, &X, are R.V with joint pdt f(X, X). Thm. If $X = (X_1, \dots, X_k)$ has (joint pdf $f(X_1, X_2, \dots, X_k)$ and if $Y = U(X_1, X_2, \dots, X_k)$ is a function of X, thus $4 \log E(X_1 + X_2) = E(X_1) + E(X_2)$ swap x1 and x2 proof: (discrete case) $E(X_1 + X_2) = \sum \sum (x_1 + x_2) f(x_1, x_2)$ $= \sum_{x_1} \sum_{x_2} x_1 f(x_1, x_2) + \sum_{x_1 x_2} x_2 f(x_1, x_2)$ $= \sum_{x_1} x_1 \sum_{x_1} f(x_1, x_2) + \sum_{x_2} x_2 \sum_{x_2} f(x_1, x_2)$ $E(Y) = E_X[U(X_1, X_2, ..., X_k)],$ where $f_1(x_1)$ $f_2(x_2)$ $E_{X}[U(X_{1}, X_{2}, \ldots, X_{k})] =$ $= \sum x_1 f_1(x_1) + \sum x_2 f_2(x_2)$ $\begin{cases} \sum_{x_1} \cdots \sum_{x_k} U(x_1, \dots, x_k) f(x_1, \dots, x_k), & \text{if } x \text{ is discrete} \\ \int_{-\infty}^{\infty} \cdots \int_{-\infty}^{\infty} U(x_1, \dots, x_k) f(x_1, \dots, x_k) dx_1 dx_2 \dots dx_k, & \text{if } x \text{ is continuous} \end{cases}$ $= E(X_1) + E(X_2)$

Then If XAY are indep R.V.
and give it h(y) are functions, then

$$E[g(X)h(Y)] = E[g(X)]E[h(Y)]$$
proof - cont. case is in the book.
DEF. The covariance of a pair of random
variables X & Y is defined by

$$Cov(X,Y) = E[(X-M_X)(Y-M_Y)] = O_{XY}$$
Then IF X & Y are RV, and a, b are const
then A) Cov(aX,bY) = a b Cov(X,Y)
b) Cov(X+a,Y+b) = Cov(X,Y)
c) Cov(X, aX+b) = a Var(X)

Thm 5.2.5 If
$$x \notin Y$$
 are $R \lor s$, then

$$\begin{array}{l}
\left(\circ \lor (X_{1}Y) = \mathrel{E}(XY) - \mathrel{E}(\aleph) \mathrel{E}(Y) \\ \circ nd \\
\text{If } x \notin Y \\ exe independent, then \\
\left(\circ \lor (X_{1}Y) = 0 \\ \circ \lor (\nabla \lor (X_{1}Y) = 0 \\ \circ \lor (\nabla \lor (X_{1}Y) = e[(x - u_{x})(Y - u_{y})] \\
= \mathrel{E}\left[(XY - X u_{Y} - u_{x}Y + u_{x}u_{y}) \\
= \mathrel{E}\left[(XY - X u_{Y} - u_{x}Y + u_{x}u_{y}) \\
= \mathrel{E}(XY) - u_{Y} \mathrel{E}(x) - u_{x} \mathrel{E}(Y) + u_{x}u_{y} \\
= \mathrel{E}(XY) - u_{X} u_{Y} - u_{x} u_{y} + u_{x}u_{y} \\
= \mathrel{E}(XY) - u_{X} u_{Y} - u_{x} u_{y} + u_{x}u_{y} \\
= \mathrel{E}(XY) - u_{x} u_{y} - u_{x} u_{y} - u_{x} u_{y} + u_{x}u_{y} \\
= \mathrel{E}(XY) - u_{x} u_{y} - u_{x} u_{y} - u_{x} u_{y} - u_{x} u_{y} \\
= \mathrel{E}(XY) - u_{x} u_{y} - u_{x} u_{y} - u_{x} u_{y} - u_{x} u_{y} \\
= \mathrel{E}(XY) - u_{x} u_{y} \\
= \mathrel{E}(XY) - u_{x} u_{y} - u_{y} u_{y} u_{y} - u_{y} u_{y} - u_{y} u_{y} - u_{y} u_{y} u_{y} - u_{$$

$$\frac{\text{Thm 5.26}}{\text{If } x_1 \text{ d} x_2 \text{ are } \text{FV } w| \text{pdf } f(x_1, x_2),}$$

$$V(X_1 + X_2) = V(x_1) + V(X_2) + 2(\text{ov}(X_1, X_2))$$

$$If X_1 \coprod X_2 (\coprod = \text{ is independent } \text{og}), \text{then}$$

$$V(X_1 + X_2) = V(X_1) + V(X_2)$$

$$\begin{array}{rcl} proof: & DEF: & \mathcal{M}_{1} = F(X_{1}) \ , \ \mathcal{M}_{2} = F(X_{2}) \\ & V(X_{1} + X_{2}) = & E(X_{1} + X_{2})^{2} - \left[E(X_{1} + X_{2})\right]^{2} \\ & = & E(X_{1}^{2} + ZX_{1}X_{2} + X_{2}^{2}] - \left[E(X_{1}) + E(X_{2})\right]^{2} \\ & = & E(X_{1}^{2}) + 2 E(X_{1}X_{2}) + E(X_{2}^{2}) - \mathcal{M}_{1}^{2} - 2\mathcal{M}_{1}\mathcal{M}_{2} - \mathcal{M}_{2}^{2} \\ & = & \left[E(X_{1}^{2}) - \mathcal{M}_{1}^{2}\right] + \left[E(X_{2}^{2}) - \mathcal{M}_{2}^{2}\right] + 2\left[E(X_{1}X_{2}) - \mathcal{M}_{1}\mathcal{M}_{2}\right] \\ & = & V(X_{1}) + V(X_{2}) + 2\left[OV(X_{1}X_{2})\right] \end{array}$$

Note: If
$$X_1 \coprod X_2$$
, then
 $V(X_1 + Y_2) = V(X_1) + V(X_2)$
In general,
 $(a) E\left(\sum_{i=1}^{k} a_i X_i\right) = \sum_{i=1}^{k} a_i E(X_i)$
 $(b) V\left(\sum_{i=1}^{k} a_i X_i\right) = \sum_{i=1}^{k} a_i^2 V(X_i) + 2 \sum_{i < j} \sum_{i < j} a_j C_{aj} C_{aj} (X_j, X_j)$
 $(b) V\left(\sum_{i=1}^{k} a_i X_i\right) = \sum_{i=1}^{k} a_i^2 V(X_i) + 2 \sum_{i < j} \sum_{i < j}$

$$Y\left[\sum_{i=1}^{k} q_i X_i\right] = \sum_{i=1}^{k} q_i^2 V(X_i)$$

$$Y = \sum_{i=1}^{N} X_i$$
, where M_i

$$E[Y] = E\left[\sum_{i=1}^{n} X_{i} \right] = \sum_{i=1}^{n} E(X_{i}) = \sum_{i=1}^{n} P = nP$$

$$V[Y] = V\left[\sum_{i=1}^{n} X_{i} \right] = \sum_{i=1}^{n} V(K_{i}) = \sum_{i=1}^{n} Pg^{2} = nPg$$

application of linearity of E() operator (part a)

application of linearity of V() operator (part c) (only under independence!)